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NE4sz SN&EL KING | PRINCE| QUEEN GROSS| HDCP| NET {mZ [[1:71v4 Sshn&E4 KING | PRINCE| QUEEN GROss| HDCP| NET i [[1:v3 &4 KING | PRINCE| QUEEN GROSS| HDCP| NET i
&=hs | HEE B2 40 41 81] 13.2|67.8 51 |3 E #GA 44 49 93] 19.2]73.8 101 | KIf AEF 48| 47 95| 19.2 | 75.8
2 |lUiR —= 35 38 73| 3.6 69.4|x270& 52 |3E[E] ¥ER 42| 44 86| 12.0 | 74.0 102 | /\k S 58 54 107| 31.2|75.8
3 [ HESE 45| 48 93| 22.8[70.2 =TT /N 50| 48 98| 24.0|74.0 103 | K5F B 51| 50 101| 25.2 |75.8
4 | HH BT 49 44 93] 22.870.2 54 PR 58 39| 41 80| 6.0|74.0 104 | & B 45] 50 95/ 19.2 | 75.8
5 IR 48| 49 97| 26.4 170.6 55 | i&H f#E— 53| 45 98| 24.0 | 74.0 105 SA[AE 1= 42| 53 95| 19.2 | 75.8
6 K {C 44 41 85| 14.4 [70.6 56 |#AZ AR 45| 46 91| 16.8 74.2 106 SARHA 5id 53 54 107| 31.2|75.8
7 7B 45| 39 84| 13.2/70.8 57 | Bf/ B9 45| 46 91| 16.8 |74.2 107 | &8 BB 44| 50 94| 18.0 176.0
8 B EE 42 42 84| 13.270.8 58 [IUA i& 44| 41 85| 10.8 |74.2 108 |8 & ¥— 49 39 88| 12.0 | 76.0
9 7 Eith 36| 41 77| 6.0]71.0 59 IEA H— 40 45 85| 10.8 |74.2 109 | K5F Bo— 49 45 94| 18.0 |76.0
10 SH & 40| 42 82| 10.8|71.2 60 |TRZA BT 41 44 85| 10.8|74.2 110 1LMA ¥ 48| 46 94| 18.0|76.0
11 |835K BiR 46| 41 87| 15.6 |71.4 61 |sa]H BAF 47| 50 97| 22.8(74.2 111 | Hi%H e 55 57 112] 36.0 | 76.0
12 =K 5alif 49| 49 o8| 26.4[71.6 62 {—AfR B 60| 49 109| 34.8 |74.2 112 | \E 535 44| 44 88| 12.0/76.0
13 [#33k BB— 41 45 86| 14.4|71.6 63 | KB (&5 45| 45 90| 15.6 | 74.4 113 1B X 50 50 100| 24.0 |76.0
14 =2 5— 41| 50 91| 19.2|71.8 64 LUK fEZ 41 43 84| 96|74.4 114 |4y ji 62 50 112] 36.0 | 76.0
15 |#3f & 43 42 85| 13.2 |71.8 65 Il R 48 42 90| 15.6 | 74.4 115 | K@ Taig 48] 45 93] 16.8 | 76.2
16 (kLK A= 39, 40 79| 7.2|71.8 66 |5y == 46 44 90| 15.6 | 74.4 116 | KR ;&5 45| 42 87| 10.876.2
17 |#Izx F55C 45 46 91| 19.2[71.8 67 | #R 40 37 77| 2.474.6 117 |§BEY s 49| 50 99| 22.8(76.2
18 |FEEE PERS 41 43 84| 12.0[72.0 68 HJI| =@ 44 45 89| 14.4[74.6 118 | By FHE 47| 46 93| 16.8]76.2
19 |{Rik 5 45/ 45 90| 18.0 |72.0 69 |Hft 19 44 39 83| 84|74.6 119 |{%5% 1= 43 44 87| 10.8]76.2
20 & iF 46 44 90| 18.0 [72.0 70 | SH IE5 45| 50 95| 20.4 [74.6 120 BH FF 46| 53 99| 22.876.2
21 |XBF /th 47| 49 96| 24.0 [72.0 71 |HiHE 8iE 43 45 88| 13.2|74.8 12153k 52| 53 105| 28.8 |76.2
22 =S5 F 51| 51 102| 30.0 |72.0 72 | 5H = 40| 42 82| 7.2]74.8 122 |/\ig 3ER 52| 46 98| 21.6 | 76.4
23 IR RS 45 50 95| 22.8 [72.2 73 BHE Ih 42| 46 88| 13.2(74.8 123 X 2 48 50 98| 21.6 |76.4
24 |7 FE 44 51 95| 22.8 [72.2 74 |3H &— 45| 43 88| 13.2|74.8 124 5 AE 50 48 98| 21.6 | 76.4
25 | KH B5 48 52 100| 27.6 [72.4 75 |k R B 42| 46 88| 13.2 |74.8 125 | W5 ¥ 44 48 92| 15.6 | 76.4
26 X &= 45 43 88| 15.6 |72.4 76 |)llig ShE 39| 43 82| 7.2|74.8 126 | LI = 44| 42 86 9.6 76.4
27 | ®B/K EX 50 44 94| 216 |72.4 77 EEP 836 53 47 100| 25.2 | 74.8 127 | ik7K 5 54 50 104| 27.6 | 76.4
28 |=i1] 5a 45 49 94| 216 72.4 78 n]¥F Hist 44| 44 88| 13.274.8 128 | 55K} (M 44| 48 92| 15.6 |76.4
29 |Fxl &=F 41| 46 87| 14.4|72.6 79 HX BHF 56| 49 105| 30.0 | 75.0 1291400 & 39 47 86 9.6|76.4
30 | P9 Bt 36 39 75| 2.472.6 80 —= B= 49 44 93| 18.0 [75.0 130 | BK &R 51| 47 98| 21.6 | 76.4
31 IR & 43 44 87| 14.4|72.6 81 P9 {E:&% 45 42 87| 12.0[75.0 131 | R RE 50 54 104| 27.6 | 76.4
32 |18M ERS 41| 39 80| 7.2|72.8 82 Hili XE 50/ 49 99| 24.0 | 75.0 132 | FxIL ZHpP 51 52 103| 26.4 | 76.6
33 |FEE IF— 41 39 80| 7.2]72.8 83 | AfRH T 45 48 93| 18.0 |75.0 133 ILA 30 49 54 103] 26.4 | 76.6
34 [P il 44| 48 92| 19.272.8 84 ¥k BXK 47| 46 03| 18.0 |75.0 134 |[BF 185¥ 45| 46 91| 14.4 |176.6
35 HE #8iExE 36 38 74| 1.272.8 85 |{Rik HE 47| 45 92| 16.8 |75.2 135 i a2 54 49 103| 26.4 | 76.6
36 | HE ZE 41| 45 86| 13.2|72.8 86 ER IE{E 45| 41 86| 10.8]75.2 136 | A% KT 50 53 103| 26.4 |76.6
37 |fafE E 44| 42 86| 13.2 |72.8 87 5H 2 44| 42 86| 10.8 | 75.2 137 | IR #Ria 58/ 45 103] 26.4 | 76.6
38 | EH &Y% 37| 43 80| 7.2|72.8 88 |LUA {E8 42 43 85| 9.6 |75.4 138 | #f[E $F0 43 48 91| 14.4 |76.6
39 | FH £ 43 42 85| 12.0 |73.0 89 1T BR 41 44 85| 9.6|75.4 139 | Hh FRiH 43 48 91| 14.4 |76.6
0 R=F 37| 48 85| 12.0 | 73.0 90 “E R 50| 47 97| 216 | 75.4 140 they 2 49 59 108] 31.2 |76.8
41 |3KAK [E= 42| 42 84| 10.8 [73.2 91 |§57K P& 46 51 97| 21.6 | 75.4 141 [4EM 4% 48 48 96| 19.276.8
42 \PHRE 83k 38| 40 78| 48[73.2 92 [£&H & 46| 45 91| 15.6 | 75.4 142 &8 =17 43| 47 90| 13.2|76.8
43 HH B&E 41| 43 84| 10.8 [73.2 93 FHH ”5B 45 40 85| 9.6|75.4 143 @Ah =F 45| 57 102] 25.2|76.8
aa |+ H =E 44 44 88| 14.4 [73.6 94 B[ Y¢iB 50/ 53 103| 276 |75.4 144 | FE=E 5— 54| 48 102| 25.2/76.8
45 [l " 51| 49 100| 26.4 | 73.6 o5 |[BA[ =5 48] 49 97| 216 | 75.4 145 | 113t %0i=5 48| 48 96| 19.2|76.8
46 —@ B 44 44 88| 14.4 |73.6 96 = BFE 42 42 84| 84/75.6 146 iEH —IE 45| 45 90| 13.2|76.8
a7 [3&7K X{— 42 52 94| 204 (73.6 97 HE RE 53| 49 102| 26.4 | 75.6 147 St {8 48 47 95| 18.0 |77.0
48 |H/AE U= 40| 42 82| 8.473.6 98 =in IBFl 39| 39 78| 2.4(75.6 148 | Rl &5k 44| 45 89| 12.0 |77.0
49 |FH= BxH 54 46 100| 26.4 | 73.6 99 [lLO F— 50| 51 101| 25.2 |75.8 149 E@ H— 54| 47 101| 24.0 |77.0
50 R 8 42 45 87| 13.273.8 100 | 1JE IEFN 49| 46 95| 19.2 [75.8 150 | 4% {4t 56 45 101 24.0 |77.0
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151 | FRok S 48| 53 101] 24.0]77.0 201 |98 BH 50| 60 110] 31.2|78.8 251 | PH= E4E 39| 53 92| 8.4/83.6
152 &7 #— 53| 47 100| 22.8 |77.2 202 |)I19F £tk 47 51 o8| 19.2]78.8 252 | ¥2i1 ARB 56| 60 116| 32.4 |83.6
153 Ak N3 52| 48 100| 22.8|77.2 203 | SH FER 52| 52 104| 25.2|78.8 253 |80 Fi% 59 61 120/ 36.0 | 84.0
154 1A & 44| 50 94| 16.877.2 204 | 155 EiE 46| 51 97| 18.0]79.0 254 A& X 58| 62 120/ 36.0 | 84.0
155 &R A 51| 43 94| 16.8 |77.2 205 | $§7E B34 59| 56 115| 36.0 | 79.0 255 155 ¥S 60 57 117] 32.4 |84.6
156 | KH ABF 52| 48 100| 22.8[77.2 206 | EH §2T) 58| 57 115] 36.0 | 79.0 256 A BAEZ 55 50 105| 20.4 | 84.6
157 {h¥t Ei 42| 46 88| 10.8 |77.2 207 gils EiE 43| 48 91| 12.0 | 79.0 257 | &) x— 57 64 121| 36.0 | 85.0
158 K — 45| 49 94| 16.877.2 208 ffiE JEX 49| 48 97| 18.0/79.0 258 | 5lE FE5h 57| 64 121/ 36.0 | 85.0
159 |{AZAH = 50| 55 105| 27.6 | 77.4 209 | {47k 12 54| 53 107| 27.6 | 79.4 259 | K& 5=— 61 60 121] 36.0 |85.0
160 | ik ER 55| 50 105| 27.6 | 77.4 210 | )l BBZ— 48 47 95| 15.6 | 79.4 260 | K& BT 62 59 121/] 36.0 |85.0
161 |l EfL 52| 53 105| 27.6 |77.4 211 |ER =7 48| 59 107] 27.6 | 79.4 261 | B 55 53 108| 22.8 |85.2
162 | At & 44| 55 99| 21.6 |77.4 212 0O KB 51| 49 100| 20.4 [79.6 262 BH & 53| 67 120| 34.8 [85.2
163 iR B 39 48 87| 9.6|77.4 213 | &R B7 45| 55 100| 20.4 | 79.6 263 | FHE &5 55| 51 106/ 20.4 | 85.6
164 IRK F3h 58| 47 105| 27.6 |77.4 2147 1A E5 48| 51 99| 19.2]79.8 264 | FHIE W= 58 64 122] 36.0|86.0
165 | kB 47 45 92| 14.4]77.6 21471 8K Uk 53| 52 105| 25.2 |79.8 265 |;k R BB 55| 67 122/ 36.0 | 86.0
166 |1T{E =X 43| 43 86| 84 |77.6 216 | 1T S 57| 54 111] 31.2/79.8 266 FHlll IF= 61 54 115| 28.8/86.2
167 | #iAK JEGE 46| 46 92| 14.4 [77.6 217 | BT 27 49| 48 97| 16.880.2 267 | &3t =08 58 63 121 34.886.2
168 N =H 56 48 104| 26.4 |77.6 218 | ¥§K 8h— 49| 54 103] 22.8/80.2 268 | i B 57 62 119] 32.4 | 86.6
169 |LLIE #EEP 50 54 104| 26.4 |77.6 219 7K iRt 54| 49 103| 22.8|80.2 269 HE EX 61 56 117] 30.0 |87.0
170 H. Lt i 48 50 98| 20.4 |77.6 220 | S5t5 FIE 56| 59 115| 34.8 |80.2 270 EH Fi8 61| 55 116| 28.8 |87.2
171 |#H Fth 51| 46 97| 19.2]77.8 221 )l Bt 40 51 91| 10.8 |80.2 271 &M &5 63 61 124 36.0 | 88.0
172 [th3E B%A1 48| 43 91| 13.2|77.8 222 ||UAK HtE 52| 51 103] 22.8/80.2 272|iB%k BK 58 66 124] 36.0 | 88.0
173 | HF T 49 48 97| 19.2 |77.8 223 | FH B&E 55| 53 108| 27.6 | 80.4 273 | S5H & 62 62 124] 36.0 |88.0
174 |3 Bt 60 49 109] 31.2 |77.8 224 | PR i 59| 55 114| 33.6 |80.4 274| LW K5 62 62 124] 36.0 |88.0
175 | FRH 2R 43| 41 84| 6.0/78.0 225 | EF hff— 52| 56 108| 27.6 | 80.4 275 | AW 22— 571 64 121] 31.2|89.8
176 | =4 BHE 47 49 96| 18.0|78.0 226 |15 ThE 43| 53 96| 15.6 | 80.4 276 H . E i 63| 63 126] 36.0 |90.0
177 | %5 S8 47| 42 89| 10.8 |78.2 227 | Q%5 B& 48| 48 96| 15.6 |80.4 277 |IUTF E83h 68| 58 126| 36.0 |90.0
178 —_= 5AIE 49 52 101] 22.878.2 228 2K ER 50 58 108| 27.6 |80.4 278 B Kl 61 65 126| 36.0 |90.0
179 § Lk B— 50| 45 95| 16.8]78.2 229 |#ib B¥1T 53 60 113| 32.4 |80.6 279 INFRE HY 68 58 126/ 36.0 |90.0
180 ;iEH B 47| 60 107/| 28.8 [78.2 230 | &S 45| 43 88| 7.2/80.8 280 | =bF Ak 63| 64 127/] 36.0 |91.0
181 5l #1EE 50 45 95| 16.8 |78.2 231 | 2l X— 48 52 100| 19.2/80.8 281 | R BE 59 69 128| 36.0 |92.0
182 BB B 46/ 49 95| 16.8 |78.2 232 He 53| 53 106| 25.2 |80.8 282 | Bl AEP 74| 56 130| 36.0 |94.0
183 | HH M) 50, 57 107| 28.8|78.2 233 | 7R I8 E 55| 57 112] 31.2|80.8 283 | &0 ==EIE 63 67 130/ 36.0 |94.0
184 R BR 45 50 95| 16.8 [78.2 234 | Fa[ 15 59 51 110 28.8 [81.2 284 | B[ thitE 61| 69 130| 36.0 |94.0
185 Hm &/E 47 48 95| 16.8 |78.2 235 R A £t 55 49 104| 22.8 |81.2 285 |lLUEH FA 64| 67 131| 36.0 |95.0
186 Hf B 55 45 100| 21.6 |78.4 236 &30 A B 56/ 53 109| 27.6 |81.4 286 %M HhE 66| 65 131| 36.0 |95.0
187 mH A2 59 53 112| 33.6 | 78.4 237 553 EA 47 56 103| 21.6 |81.4 287 {E4 A 18— 62| 70 132 36.0 | 96.0
188 )JIIA& & 50 50 100| 21.6 | 78.4 238 {HBH {_7&K 54 48 102| 20.4 |81.6 288 | BF[] HE 56/ 66 122] 25.2 |96.8
189 | LLIIE FEX 45| 49 94| 15.6 | 78.4 239 M ¥2 53| 61 114] 324 |81.6 289 | E)I| EN 72| 66 138] 36.0 |102.0
190 | X& i 51| 49 100| 21.6 | 78.4 240 | B[R @R 60 53 113| 31.2 |81.8 290 |1l & 72 71 143| 36.0 |107.0
191 Fi& /T 56| 56 112 33.6 |78.4 241 | AH &= 50 51 101 19.2|81.8 201 | 15[ BS— 76| 77 153 36.0 |117.0
192 [/I\#k 44| 44 88| 9.6/78.4 242 @ 84E 53| 47 100| 18.0 |82.0 292 |fEH (Rt 81| 74 155| 36.0 [119.0
193 | hAEE KIE 49| 51 100| 21.6 | 78.4 243 | T[H B 61 57 118 36.0 |82.0
194 5i5 &I 49| 45 94| 15.6 | 78.4 244 | 0]8F —HP 51| 60 111/ 28.8 [82.2
195 EHEP & 42| 45 87| 8.478.6 245 M Eth 55 62 117/ 34.8 [82.2
196 |58 hff— 47| 46 93| 14.4[78.6 246 A Bk 56 61 117| 34.8 |82.2
197 | Kifk Biif 43| 44 87| 8.4/78.6 247 |BAH B2 58| 58 116| 33.6 |82.4
198 AfRH 57 48 105| 26.4 | 78.6 248 | = El 49| 61 110 27.6 |82.4
199 | L5 =R 49| 50 99/ 20.4 |78.6 249 | Fiith & 58 61 119/ 36.0 |83.0
200 FER BT 52| 46 98| 19.278.8 250 P —— 52| 59 111 276 | 83.4
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